



Name: _____

Date: _____ Score: _____

$$\left(\frac{3}{2} - \left(\frac{1}{3}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{2} + \frac{1}{6}\right)^2 =$$

$$\left(3 + \frac{1}{3}\right)^2 - \frac{3}{2} + 4^2 + \frac{1}{2} =$$

$$\left(3 - \frac{1}{3}\right)^2 + \frac{1}{2} - \frac{2}{5} \times 4^2 =$$

$$\left(\frac{1}{3} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{3} + \frac{1}{3}\right)^2 =$$

$$\left(2 - \frac{3}{5}\right)^2 + \frac{1}{2} - \frac{2}{3} - 3^2 =$$

$$\left(\frac{1}{4} - \left(\frac{3}{4}\right)^2\right) \times \frac{1}{3} - \left(\frac{1}{2} - \frac{1}{2}\right)^2 =$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{2}\right) \times \frac{1}{3} - \left(\frac{1}{3} + \frac{3}{4}\right)^2 =$$

$$\left(\left(\frac{1}{3}\right)^2 - \frac{1}{3}\right) \times \frac{1}{6} + \left(\frac{1}{2} + \frac{1}{2}\right)^2 =$$

$$\left(\frac{2}{5} + \left(\frac{1}{3}\right)^2\right) \times \frac{1}{3} + \left(\frac{1}{3} + \frac{1}{2}\right)^2 =$$

$$\left(\left(\frac{1}{3}\right)^2 - \frac{1}{3}\right) \times \frac{3}{4} + \left(\frac{3}{2} - \frac{2}{5}\right)^2 =$$



Name: _____

Date: _____ Score: _____

$$\left(\frac{3}{2} - \left(\frac{1}{3}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{2} + \frac{1}{6}\right)^2 = \frac{1}{4}$$

$$\left(3 + \frac{1}{3}\right)^2 - \frac{3}{2} + 4^2 + \frac{1}{2} = \frac{235}{9} = 26\frac{1}{9}$$

$$\left(3 - \frac{1}{3}\right)^2 + \frac{1}{2} - \frac{2}{5} \times 4^2 = \frac{109}{90} = 1\frac{19}{90}$$

$$\left(\frac{1}{3} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{3} + \frac{1}{3}\right)^2 = \left(-\frac{29}{72}\right)$$

$$\left(2 - \frac{3}{5}\right)^2 + \frac{1}{2} - \frac{2}{3} - 3^2 = \left(-\frac{1081}{150}\right) = \left(-7\frac{31}{150}\right)$$

$$\left(\frac{1}{4} - \left(\frac{3}{4}\right)^2\right) \times \frac{1}{3} - \left(\frac{1}{2} - \frac{1}{2}\right)^2 = \left(-\frac{5}{48}\right)$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{2}\right) \times \frac{1}{3} - \left(\frac{1}{3} + \frac{3}{4}\right)^2 = \left(-\frac{133}{144}\right)$$

$$\left(\left(\frac{1}{3}\right)^2 - \frac{1}{3}\right) \times \frac{1}{6} + \left(\frac{1}{2} + \frac{1}{2}\right)^2 = \frac{26}{27}$$

$$\left(\frac{2}{5} + \left(\frac{1}{3}\right)^2\right) \times \frac{1}{3} + \left(\frac{1}{3} + \frac{1}{2}\right)^2 = \frac{467}{540}$$

$$\left(\left(\frac{1}{3}\right)^2 - \frac{1}{3}\right) \times \frac{3}{4} + \left(\frac{3}{2} - \frac{2}{5}\right)^2 = \frac{313}{300} = 1\frac{13}{300}$$